K0343_H

SCI2E B4 O8I0 FI2E HEIJ A SR i= 2E =
= ZE|Q1f| A Ol A Z8ix]
£S5 MI/HE o|o||

© HEINRICH KIPP WERK GmbH & Co. KG

My

THE!:

AR T

2 E Est Xl
4 52 5.8.
AHIQIPA AE HA:
&= E Fs ®Mal:
LIA} £2]E 1.4305.
2 El 1.4034.
HIZE, SRR 2tZ
LIA}F &£2]E 1.4305.
=2 EN1.4305

AE[QlEA AR T

T2 33 ot 2 £33

2T Zsh ook 2 B3R S

e

Qe A ZHX = 5H 2lof 28t &3 x|
HEE YxIaHoF sh= RO ALHSE.
HMEEE +SCEEFHOE XS
X2 ol = US

= .
H=E 2EE Z0|7| el 237 2 AME
B2 = US. UH S HAZS £ E
otzHoll M oM & Eo| &R 2
MURTF F

AL

S5 A A,

HMIAE]:
AT O|M B KO665.
ofe Hx o oI5t 1X M|E K2146.

www.kipp.com - info@kipp.com 1/3



°
— g =
SAE HAE 811 7126 LET Jn SUKJI = 2 S
2 AH|QI|A OIHIA ER A
=o
D2
=
I
[
N
\l [}
i :
T
S O
| o | +_
p-0.02
-0,04
—
| o1 |
—==
Z5 29
FEHS  Ete 2z & EH D D1 D2 L L1 L2 AEE3 SW Fx30° A& s FEHS
7|2 S S Etd =2 37 29t
F1 2 N F2 2N
K0343.2903 H AE] Z3F 3 M6x0,75 14 31,517 11 35 10 0,8 45 10 K0344.99
K0343.2004 H AEl Zst 4 M8x1 18 38,521 135 4 13 1.3 6 12 K0344.90
K0343.2105 H AE A8 5 M10x1 21 43,524 145 5 17 1,3 5 12 K0344.91
K0343.2206 H AE] Z#Z3 6 M12x1,5 25 51,7 28 17,7 6 19 18 6 14 K0344.92
K0343.2308 H AEl st 8 M16x1,5 33 68 36 24 8 24 23 15 35 K0344.93
K0343.2410 H AE A8 10 M20x1,5 33 74 40 24 10 30 28 15 34 K0344.94
K0343.2412 H AE A3 12 M20x1,5 33 78 42 24 12 30 28 15 39 K0344.94
K0343.2516 H AE A3 16 M24x2 40 96 50 30 16 36 3.2 20 46 K0344.95
K0343.02903 H AHIQIHA AEl Zs 3 M6x0,75 14 31,517 11 35 10 0,8 45 10 K0344.99
K0343.02004 H AEHQIHA AE A3l 4 M8x1 18 38521135 4 13 13 6 12 K0344.90
K0343.02105 H AEQIHA A& Zd8 5 M10x1 2143524145 5 17 13 5 12 K0344.91
K0343.02206 H AEIQIBA AEl 28 6 M12x1,5 25 51,7 28 17,7 6 19 1,8 6 14 K0344.92
K0343.02308 H AHIQIBHA AEl Zs 8 M16x1,5 33 68 36 24 8 24 23 15 35 K0344.93
K0343.02410 H AHIQIHA A& A8 10 M20x1,5 33 74 40 24 10 30 28 15 34 K0344.94
K0343.02412 H AHIQIHA AE A8 12 M20x1,5 33 78 42 24 12 30 28 15 39 K0344.94
K0343.02516 H AEH[QIA AE a3 16 M24x2 40 96 50 30 16 36 32 20 46 K0344.95
K0343.12903 H AHIQlE|A AR H|FE8 3 M6x0,75 14 31,517 11 35 10 0,8 4,5 10 K0344.99
K0343.12004 H AHEIQIBA ARl  H|ZA3 4 M8x1 18 38,521 13,5 4 13 1,3 6 12 K0344.90
K0343.12105 H AEQlEA A H|ZS 5 M10x1 21 43,524 14,5 5 17 1,3 5 12 K0344.91
K0343.12206 H AHIQIBA AR  H|ZAS 6 M12x1,5 25 51,7 28 17,7 6 19 1,8 6 14 K0344.92
K0343.12308 H AHIQIEA A8 H|AS 8 M16x1,5 33 68 36 24 8 24 23 15 35 K0344.93
K0343.12410 H AHIQIBA AEl  H|ZAS 10 M20x1,5 33 74 40 24 10 30 28 15 34 K0344.94
K0343.12412 H AHIQIBA AE  H|ZAS 12 M20x1,5 33 78 42 24 12 30 28 15 39 K0344.94
K0343.12516 H AHIQIEA A8 H|AS 16 M24x2 40 96 50 30 16 36 3,2 20 46 K0344.95

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com  2/3



[ ]
EAE AN ORI 7126 LIEI YD EURII = 2EHE IC.*
% ﬁE.“OIJE.“A ojcdlA EE-IH

—_— e = = b
=
EEROI:

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



